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Learner name and NsN: T Date of observation: #} €114

Observer name and relationship to leamer: - Latnr

Description of situation in which problam occurmed: Problem being solved: s.g. How much waste wil thers b from 1
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Measuring equipment selected & used: e.g. Kichen scoes | L

Any preparation of equipment done: s.g. Zerced scades

Outcome 1: Use measurement to sclve problems
@ | obsarved the learner take the following measurements:

Record what was measured, and the actual measurement(s) taken,
a.g Weighed unprocessed pafalo (370 g): prepared patels for pommes panisienne; waighed washe polalo (135 g).
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The reguired level of accuracy with the measurements was: +/- g+ 10g
Required level of accuracy in measurements taken was met: Yes / No

@ | observed the leamer make the following calculations, derived from the measurements s/he took:

Record what was calculated (including the actual figures calculated) and the result.
o 1 kg = 1000 g Calculated how many limes waight of unprocessed polalo goes into 1 kg (1000 370 g = 2.7 rounded); muitipked washe
waight by this figure (135gx 2.7 = 3684.5g)
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The learner's solution to the problem was: (record their solution) e.g. Abow 285 g waste per 1 kg ungrocessed polaia.
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Did the leamer judge the solution they reached to be reasonable? [ Yes { No
Comment: e.g. Yes Lesmner reversed inflal calculation fo check facior i re-cid calcpation of waste io check.
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fseramd the measuring equipment and units of measurement to use

selected and used hisfher own methods to solve the problem(s)

took the measurements himmherself

did the calculations him/herself

solved the problem(s) without undue assistance.

This evidence was generated for a purposa other than the assessment of this standard,

Observer signature: _— Date: !k_,lgl . @
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